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Cuadro 8 (continuación 5)/Table 8 (continued 5)
Cuba: tablas abreviadas de mortalidada

 Cuba: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.008 0.008  100 000   803  99 298 0.991 b 7 477 142 74.8
1 4 0.001 0.002  99 197   220  396 240 0.998 c 7 377 844 74.4
5 5 0.000 0.002  98 977   166  494 472 0.998 6 981 604 70.5

10 5 0.000 0.002  98 812   168  493 638 0.997 6 487 132 65.7
15 5 0.001 0.004  98 644   382  492 264 0.995 5 993 494 60.8
20 5 0.001 0.005  98 262   505  490 048 0.994 5 501 230 56.0
25 5 0.001 0.006  97 757   590  487 312 0.994 5 011 182 51.3
30 5 0.001 0.007  97 167   673  484 154 0.992 4 523 870 46.6
35 5 0.002 0.009  96 494   862  480 315 0.989 4 039 715 41.9
40 5 0.003 0.013  95 632  1 278  474 963 0.983 3 559 400 37.2
45 5 0.004 0.021  94 354  1 955  466 879 0.974 3 084 436 32.7
50 5 0.006 0.031  92 398  2 902  454 734 0.961 2 617 557 28.3
55 5 0.010 0.047  89 496  4 170  437 053 0.942 2 162 823 24.2
60 5 0.014 0.070  85 326  5 942  411 773 0.913 1 725 770 20.2
65 5 0.022 0.105  79 384  8 364  376 007 0.869 1 313 997 16.6
70 5 0.035 0.161  71 019  11 413  326 564 0.802  937 989 13.2
75 5 0.055 0.243  59 607  14 483  261 826 0.698  611 425 10.3
80 5 0.094 0.380  45 124  17 142  182 763 0.567  349 599 7.7
85 5 0.142 0.519  27 981  14 523  103 600 0.438  166 837 6.0
90 5 0.202 0.650  13 459  8 753  45 411 0.322  63 237 4.7
95 5 0.270 0.759  4 706  3 570  14 604 0.181 d  17 825 3.8

100 ω 0.353 1.000  1 136  1 136  3 221  3 221 2.8
Mujeres/Females

0 1 0.006 0.006  100 000   603  99 500 0.993 b 7 868 559 78.7
1 4 0.000 0.002  99 397   185  397 105 0.998 c 7 769 059 78.2
5 5 0.000 0.001  99 212   97  495 820 0.999 7 371 955 74.3

10 5 0.000 0.001  99 116   106  495 312 0.998 6 876 135 69.4
15 5 0.000 0.002  99 009   205  494 533 0.998 6 380 823 64.4
20 5 0.001 0.003  98 804   262  493 366 0.997 5 886 291 59.6
25 5 0.001 0.003  98 542   303  491 955 0.997 5 392 925 54.7
30 5 0.001 0.004  98 240   385  490 237 0.995 4 900 970 49.9
35 5 0.001 0.006  97 855   551  487 896 0.993 4 410 733 45.1
40 5 0.002 0.009  97 303   865  484 355 0.989 3 922 837 40.3
45 5 0.003 0.014  96 439  1 344  478 833 0.983 3 438 482 35.7
50 5 0.004 0.021  95 095  1 996  470 482 0.974 2 959 649 31.1
55 5 0.006 0.032  93 098  2 942  458 135 0.960 2 489 167 26.7
60 5 0.010 0.049  90 156  4 406  439 765 0.938 2 031 032 22.5
65 5 0.016 0.076  85 750  6 494  412 518 0.904 1 591 266 18.6
70 5 0.025 0.118  79 257  9 364  372 875 0.850 1 178 749 14.9
75 5 0.041 0.187  69 893  13 064  316 807 0.753  805 874 11.5
80 5 0.076 0.322  56 830  18 273  238 465 0.620  489 068 8.6
85 5 0.123 0.467  38 557  17 998  147 787 0.483  250 602 6.5
90 5 0.183 0.612  20 558  12 575  71 354 0.354  102 815 5.0
95 5 0.253 0.735  7 983  5 866  25 253 0.197 d  31 461 3.9

100 ω 0.341 1.000  2 118  2 118  6 209  6 209 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


